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[loBTOpEHME

1) OnpeneneHne npon3BogHOU

v = lim
2) NponssoaHble NpoCcTEUNLLNX PYHKLNN
C'=0
x'= 1



[loBTOpEHME

3) NponssogHaa cteneHHOU PYHKLMN
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(X ) — Il-Xn




[loBTOpEHME

4) Tabnuua Nnpon3BoaHbIX

(sin x)' — COSX
/

(cos X) = —sIn X




3apgaHue 1. Hangute nponsBoaHble
dyHKUMN N NX 3HAYEHUS B TOUYKE X = - 1
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[MpaBuna anddepeHUnpoBaHuUs

(u+v) =u+v

(u-v)=u"-v+u-v

/

U 4 =g
V '




Hanaute nponssogHble PYHKUUN:

y=6x"-3x+12 (u+v)=u"+V

y' =12x -3 (u-v)=u"-v+u-
(Z_I)’ = u'-v—u-v'

y=(2x-3)x+1) )

y=2x"—Xx-3

y' =4x —1

2%

y' =2-(x+1)+1-(2x=3)=2x+2+2x -3 =4x -1



Hanaute nponssogHble PYHKUUN:

2
_r X w+v) =u +v
Y= 2

X
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y= (4x2 —3Xx2 +2)
y=4x* +8x° —3x° —6=4x"*+5x* -6
y' =16x" +10x



Hanaute nponssogHble PYHKUUN:

y:(xz -I-lx 3 _3) (u+v) =u+
(u-v)=u"-v+u-
y=x"-3x"+x" -3 e |

(l_l) :11'-v—u-v'
y' =5x* —6x +3x° v

V= (x2 — 1X3x6 + 2)
y=3x"+2x" -3x° -2
y' =24x" +4x —18x°



Hanaute nponssogHble PYHKUUN:
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Hanaute nponssogHble PYHKUUN:

y:(sinx+lnx eX—XS) (u+v)’-u'+v’

r__ l X o9 X 4 :
y—(cosx+xj(e x)+(e 5x Xs1nx+lnx) (u-v)’=u'-v+u-v'

!

U 3 y—mp -y
el B
1 % V-
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He 3a0yAabTe BbINOMHUTL
AoMalluHee 3agaHue



